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(a) Ans: 2

Consider the power series Z ay —(z-1- /) about (z —1—7). With the identification
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Hence by (12) of Section 6.1 with L =1/2, we see that the radius of convergence is

R =2. The circle of convergence 1s |:- —l—f| =2

(b) Ans: 25
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= about (z—4—37). With the identification
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Hence by (12) of Section 6.1 with L = 1/25, we see that the radius of convergence is

R = 25. The circle of convergence 1s |: —4 - 3f| =25.
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2.

(a) Ans: diverges
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But 1+7" alternates between 0, 1 —7, 2, 1 + 7 which 1s why the sequence 1s divergent

(b) Ans: convergesto 1+irx
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Thus z, 1s convergent and converges to 1+i7z
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(a) Ans: 2rxi
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The series converges for |—— <1 ie. ‘ _I‘< N

Thus R =+/2
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